One—-Stop Auto And Motorcycle Modification

Parts Supplier
HAOFA RACING

Gongye Street, Beifang Lndustrial Park, Hengshui City, Hebei Province,China.
Tel;+86-19831469190

+86-18395619528

+86-15633874345
E-mail: haofa@hf-autoparts.com

- - ) N - . . 4 4 . 4 . d r
i F s 4 4 L . 3 d -
X s [ I " " . | - « - U . - - s I - i E At g -
A . " ’ g i . [ - f - 1 E ~ e -t =
" E g Yy 4 - - w [ - " » g 1.;_.: g T ik re, -
A L & = # .3 - "'.. -‘1 AT 2 e,
o i ] N f : S|
i i { L n ¥ [ ‘r - - i 5 ¢ & & i st b,
E : - r 3 . - " # . o - i
;- . ; ; - . - / 1 .
" __ - d - ¥ g ant =
: o o ‘s " . B = L iFr - [ - F . ¥ LS . - ¥ ’ L | 4 #*
) - - - F " o a1 n .
3 ¥ o i k
2 ™ F & ] - * & i
- - i - 5 gl & 3 ! . W 3 . B i . - J y ’ 1 i >
g Lt { -, . i . , . = = t . . AT . e - Rel
24 . S -.f.P.'."..'_fj-_ g a y ; L . ® e J . 4 r “‘q:q.'-" A - — ’
) L %1 e S e A - L LR e
s T {4 L R e e e e Vol o s e wd o = - - ’ 1 . L1 I - . - i # oy AR
{ 5 s - il 4 £ - N o i
41 " S ek L Wk =l el il = - 3 " a ¥ » ¥ . L ; - - i e
| r B S ey Vaghol P g T il - - - - ' 3 " e
A ' i ; T g —— # 4 : . . i » . . - 4 a ' - i o . . e { Ll -
Y 3 y 6o FhpaT Va4 > o By, - ¥ . ’ Tl = i - - d & = - f " L ol e \
,l‘NN 5 ’ L AL e — <. L . | . . 3 o F 0 : ' i ¥ ¥ ow ! - » N . 1 § ¥ - . o, e
o 0 v 1 ¥ v ’ .}:. ;_ — -__' -, N b _I F = - ‘ 4 L | ¥ J |._'l-- o
i J{. L ; ,f . ’ ™ . " ! S 2 \ * I N J - - -
“' "5 : . s . : 1 . " - !
) . 4 i 2 L ¥ eI PEE
Finay
: “ﬂ__mm W'W“ - | —
. o 31 ¥ % 5 - b . - 4 b - . - . 4 . A o P g :
¢ — % " ) » - ’ y "R T
'l" .'..fn Lo da i = i e 1 ih ’ - - e - . ., - ' - h A e
'Y, " " 4 A " 2 i P = s b L LS
*gﬁlﬁh" PEP PP I I A ; : _—— . - . “ " 1. . . . - A o i .
era et A00LIPLLLLLELLL,
St IR
ot L]

‘‘‘‘
el Wy i R B .

- - =
e
L
- 2
J i
1 [ s &
- & .
i X - _ e ] b
':. A 1-' .
- . ]
;."'; - e
;
|

HILAAL)

I

i I r

I

ORI
SR UG I
oo hnpnppnnnnnnrn Il
T AT TN R R RRRRRR RN RN R T IT (0000000

TR A IA AR AR ERE RN RN R AT AR g 0o
AT R AT AT I NN NN AR AN NARANRWE RV R P F R AT 0

PR T A A AN NN AR AN AW T PRV AP PR R T
ST AT AT NN NS HANATANAN SR EF RR RN BN u | o

A T R T R TR AR AU SRR BB B R EF LY B 00

T T T e L T S T AR
bbb EbEE L R BL L DL LSk O e i e i F A A3 A A A ks

tERERE R ER R CE R RO B b S S E i i ittt



1T Racing LUOFY RacIng

HF-866-3-3/-12-12 HF-865-4/-12
Flow diameter 1/8" 7/32"

Cross section(in?) 0.011 0.037 - NS/ HF-868-3/-12 HF-867-3/-12
Shut-off System Double Double Flow diameter 5/16"
Max.operating pressure(psi) aluminium titanium aluminium titanium Cross section(in?) 0.083

) 00 o190 s L Shut-off system
i T o0sa il - ossar (7 p———
O I <8 e , _ 1250 2500 800 1500
— é : [ VEIOI/S | | # ¥ E : i o 1
> Z|HEEEREy A 2 - HF-868-3/-12 HF-867-3-12
T 2 & T 2 — 10 ] _ — 10 . -.
-U ‘a’ 1 S . ’é 1 2 5 | w‘asmh ” :é 5| ‘
§ 05} L [ :"." 0.5 g | g d|
m Pty >N\ | | 203 : . y / : %
_I 0.2 — | 0.2 : S5 2 5 1
| - _ | & b ) @ |
01 D02 009 0.05 01 0203 05 1 2 3 5 " 001 002003 005 01 0203 05 1 2 3 5 E . | 7 | E M
Flow gal us/mm. Flow gal us/mm. z; | | 1 _ ::
® FUEL LINE USE 0.1 - 0. -
01 02 03 051 2 3 S5 10 01 020305 1 23 5 10 20 30

HF-865-4 AN4-5body Aluminium

Flow gal us/mm. Flow gal us/mm.
m Test conditions

_~_
HF-865-6-1 ANG6-8body Aluminium ' -Water
[ Body ‘ -Flow direction: Plug — Socket
HF-865-10 AN10-12body | Aluminium Adapter |

® BRAKE FLUID USE .~ Oring |  2typesofseals |  ®FUEL LINE USE ® BRAKE FLUID USE

For brake fluid | Ethylene | add/Bat

the end of
propylene hoi
part
O (EPDM) number

AN

HF-868- :
HF-868-4-1  AN4-5body
HF-868-6-1 ANG-8E
HF-868-10

Titanium

HF-867-3 AN3-3bod Titanium
HF-867-4-1 AN4-90
HF-867-6-1 ~ ANO-cbody | Titanium

HF-866-3-3 Aluminium
HF-866-4-5 AN4-5body | Aluminium
HF-866-6-8 Aluminium
HF-866-10-12 Aluminium

5 Titanium

Titanium

_ _ add/F at
For olls, mineral | £\ orocarbon the end of

9 Titanium

greases, nitrogen, (FPM)

gasoline the part

number Titanium

HF-867-10 AN10-12body| Titanium




1O Racing 1TOFC Racing

\

d X9 P ' B

 Quick Connector ASM. Drawing

® Female Quick Disconnect With
1/8NPT Port

HF-859-6-3/8
HF-859-8-3/8

® Bracket Sets For Dual 044
Bosch Fuel Pump

"6 | 5/16" Male Hard Tube ® Female Plastic Insert

HF-862-6-5/16

® AN To Female Quick Connector HF_82__3, S716" Male yantARON

HF-860-3 5/16" (®7.9) Plastic Insert

HF-864-6-5/16 n 5/16" Female Hard Tube

HF-864-8-3/8 n 3/8" Female Hard Tube

HOLOINNOD MOINO

® 90° AN To Male Quick Connetor

'S1IMOVHI B SAAVTD

HF-863-6-5/16 -6 | 5/16” Male ard Tube
13-6-3 - ® Dual Fuel Pump Bracket

HF-863-8-3/8 -8 | 3/8" MaleHard Tube

HF-957-86.5

® Billet P-Clamps

HF-957-43.5
HF-2020-7.4

HF-2020-6.4

_ , HF-2020-9.5

HF-861-8-3/8 : 3/8” Female Hard Tube c HF-2020-12.7
HF-869-6-5/16 ® Vise Jaws -

26 -- _ HF-2020-15.9

HF-869-8-3/8 | ' ' |

HF-2080 Billet Aluminum Vise Jaws HF-2020-13.5




=
=
D
<
T
n

LUOFURECIRG

CLAMPS

® Cushioned P-Clamps

HF-2030-3

HF-2030-6

® Billet Line Separators

HF-2000-3
HF-20006 | -6 |

ar200010 | 0

6.6mm

14.2mm

20.2mm

® Billet Dual Hose Separators

HF-2010-4
HF-2010-8
HF-2010-12

® Hex Finishers

HF-20404 | 4

HF-2040-8 | -8 |
HF2040-12 |  -12 |

12.7

19.1

25

tubing

tubing

® All Staintess Steel Clips

HF-2050-6

N/ /|1

HF-2050-13 19

HF-2050-21

44

HF-2050-33 57
HF-2050-60 | 60 | 83

HF-2050-91

® Stainless Hose Bands

HF2281-1

HF2281-3

1/2" WidthX3.0m And 10XCiamps

1/2” WidthX9.0m And 30XCiamps

LUOFYRECIRG

a great addition when using extemal
Efl Fuel Pump

® Efl Fuel Pump Brackets

HF-958-1 66/61/50

HF-958-3 66

HF-953-55 35
HF-953-43.5

HF-953-61

® Efl Fuel Pump Brackets

® Efl Fuel Pump Brackets

O
=
>
<
U
2




il
I
—
[T
A
U
>
A
s
)

hleeFal IRGcing

> > FILTER PARTS |

e

® Universal Billet Re-Usable
Oil Filters

HF-947-8-70 | AN8 ©53.8X70mm
HF-947-8-158 (053.8X158mm
HF-947-10-109 ®53.8X109mm
HF-947-12-70 | AN12 | ®53.8X70mm
HF-047-12- 8] AN12 cD.X15mm
HF-947-22-109 ©53.8X109mm

® Billet Fuel Filters

3/8
5/16" (7.9mm
172" (12.7mm)

HF-945-3/8
HF-946-5/16

e ——

® Billet Fuel Filters

HF-951-1
HF-951-3
HF-951-5
HF-951-71 — [29.4] 254 [3/8NPT
HF-952-2| 114.9

30

FLOW ——

® Pro Filters

HF-954-61

HF-954-31.1 89.6 61mm

® Pro Filters With Ball Valve

® Fuel Filter

HF2270-1

60

® Universal Replacement S/S
Filter Element

HF-948-35

HF-948-123

= Replacemt Bronze h Element

HF2268-1 30

® Air Filter

heeFal IRGGCing

3/4X16 | 69mm 60

@ Universal Billet Re-Usable Qil Filters

HF2265

3/4X16
M18X1.5

M22X1.5

94mm

'S1¥Vd 3114




hleeFal IRaCinNg LUOFY RECInG

// .

® Oil Catch Can

® Oil Catch Can

universal 0.75L alloy
aluminum baffled oil
catch can with filter

2XAN12

HF2277-1 0.75L

27 :, '
S5 «<

® Oil Catch C
® Oil Catch Can 11 Catch Lan

AL oil catch can

® Oil Catch Can
1L fuel tank with breather

HF2274-1 and inner baffle
1L fuel tank with breather AL
and inner baffle
2L fuel tank with breather
and inner baffle
3L fuel tank with breather
and inner baffle

3L fuel tank with breather
and inner baffle

L=
o o
Lo

® Oil Catch Can

HF2274-3

® Oil Catch Can

universal 0.75L allo
oil catch can with
filter 2XAN10

O
= —
O O
> >
O O
=g s L
O O

3>
= Z

HF2274-5

ﬁ?
® Oil Catch Can
HF2274-7

fuel pump anodized

. 2L
aluminum surge tank

HF2274-9 AL

® Oil Catch Can

® Oil Catch Can

g6
® Oil Catch Can

® Oil Catch Can

1L alloy oil catch can
HF2273-1 | ister tank bottle AL

reservoir with

drain-plug

HF-01180-1

universial AL 0.5L oil catch can
universial AL 0.5L oil catch can




1TOFC Racing

9.
=
O
>
—
O
I
O
>
<

HF-941-6

HF-941-10 <
' ® Oil Sandwich

® Check Valve

HF942-6
HF942-10

® Shut OFF Valves

® Oil Cooler

HF-943-4 4(7/16X20)

HF-943-8 8(3/4X16)

HF-943-12 12(1-1/16X12

® Oil Sandwich

® Magnetic Oil Drain Plug

HF2272-1 M12X1.25

HF2272-3 V116X1.5

® Oil Cooler

_ 'I‘I ' II“.;‘;‘;“ : IH
- | I Name: Transmission QOil Cooler
. . Type: 8 Rows
® Billet Fuel Filters Fittings included @ . @® :

HF-2106-M14X15| -6 M14X15 ® Oil Cooler ® Oil Cooler

® Fuel Filter RS With Brass Insert

HF-944-6

LUOFC Raclng

=
92,
>
Z
O
=
O
L
(o
O
r
O
O
O
r
m
A




TP Racing

Perfect Flare

® Handy Tubing Beader

A professional tool to perfectly bead aluminium pipes.
From 16mm dia.To keep turbo hosesin place. The bead

height is approx 2mm. Clamp in any vice and turn the handle...
it" s finished!

® Flare Tool 37° Tube Flaring

® Hose Cutter

® Adjustable AN Wrench

® V-Adjustable AN Wrench

® AN Wrench

® AN Wrench

nToFC Racing




1UOFC Racing LAY Racing

® Aluminium Washer Sets

Aluminum washers size available form
AN-3, 4, -6, -8, -10, -12, -16
For packaged of 10pcs each in a slot. ® Teflon Washer Sets ® AN O-RING SETS

Teflon washers size available form O-ring sets size available form e )
AN-3, -4, -6, -8, -10, -12, -16 AN-3, -4, -5, -6, -8, -10, -12, -16
For packaged of 10pcs each in a slot. For packaged of 10pcs each in a slot.

® Male AN Plastic Plug

HF2286-3
HF2286-5

HF2286-7

® AN Aluminium Washers Pty it

HF2282-3
1015 | 40mm

HF2282-1

9.8mm

14.5mm

22.5mm

33.5mm \_/

" HF2282-5
HF2282-7

® Female AN Plastic Plug

®PTFE (Teflon) Washers

=
O
O
O
”
(0
>
O
O
[Tl
7
7
O
A
=
92,

HF2285-1

S3140SS30IV ® SAT00.,

HF2284-1 9.8mm
® Aluminium Washers HF2284-3 14.5mm

6.2mm HF2284-5 28.28mm 22.5mm

1.0/1.5 | 16mm | 10.2mm HF2284-7 | 15 |  40mm |  33.5mm
14.2mm
18.2mm
1.0/1 . 30.Tmm

HF2287-1

HF2285-3

HF2285-
B2 HF2287-3

HF2283-1 EE22ES
HF2287-5

HF2283-3 HF2285-3

HF2283-5

HF2287-7

HF2283-7

HF2283-9 22 2mm




1UOFY RaCIng hleeFalIRaCIng

i~ =y
i ¥
(g 2

® Steam Vent Hose Kit ® Braided uel Line Kit

|
“——

: - =

® Transmission Oil Cooler ® Transmission Oil Cooler
Fuel Line Kit Fuel Line Kit

I

0000

\ lllir

— e .-1- »< |
j , A8
—ee ’

L L. |

= 4 . ® Fuel Valve ® Fuel Pump Ca
p Lap
O

Return Line Kit ® Fuel Filter And Fuel Line Kit




